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1| WA % Iz 2 1 279 293 296 868 63 28
2| FERR FZm 266 278 287 831 43 11
3] HMHAB REBAT 269 280 282 831 37 14
4 NI REABAT 263 278 289 830 43 15
5| TrH{EN EBIRM 262 275 276 813 28 10
6| FHEME BIRT 257 275 278 810 32 10
| =ERAERK ZRE 265 264 275 804 30 6
8| &OIE— BIRM 256 269 278 803 27 6
9| ZHEHI KR FF 254 269 274 797 23 12
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1| JEREFF KB AT 2717 275 286 838 45 14
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1| ARERX ZRM 256 272 282 810 27 4
2| HOBRX A BRFF 253 269 269 791 25 5
3| HHEK =R 258 270 258 786 24 6
4| REFIL =B 247 261 272 780 18 8
5| AIE#AR =B 227 241 264 732 10 2
6| WO KRR AT 226 245 260 731 4 3
7| BEHBR Py 221 247 262 730 11 4
8| Tl =58 227 248 245 720 14 7
9] BT 1§ HER 216 239 252 707 9 4
10| +2HEB5A KR FF 217 250 240 707 6 1
1| IMEFH F2ME R 212 243 250 705 8 2
12| HHE— =R 193 219 248 660 9 0
13 /R B HBEE 178 235 235 648 9 3
14| fBHER =R 206 200 224 630 5 0
15| FEHE=ER Fem 209 200 217 626 3 1
16 M BB KBRAF 158 237 228 623 6 3
17| bk 25 =R 140 186 169 495 5 3
18| WP HRM N 106 153 216 475 3 0
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1| wIFT =58 240 258 249 747 15 0
2| AIEFLWH RABAT 218 246 265 729 17 4
3| AREF =R 182 233 258 673 11 3
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